

II. 1) $\{\gamma, p_x\}$ dimension 2

$$2) \phi(E) = \frac{\Gamma(E)}{h} = \frac{\int_0^L dx \int_{-\infty}^{\infty} dp_x}{h} = \frac{Lp}{h} = \frac{LE}{hc}$$

$$3) \Phi(E) = \frac{\partial \phi(E)}{\partial E} dE = \frac{L}{hc} dE = \rho(E) dE$$

$$4) \rho(E) = \frac{L}{hc}$$

III

1)

$$\Omega(E, N) = \frac{\text{nb de permutations entre les } (N-1+n) \text{ boules}}{\text{nb de permutations entre les } (N-1) \text{ boules noires} \times \text{nb permitt entre } n \text{ boules blanches}}$$

$$= \frac{(N-1+n)!}{(N-1)! n!} \sim \frac{(N+n)!}{(N!) n!} = C_{N+n}^n$$

$$2) S^* = k_B \ln \Omega = k_B \ln (N+n)! - k_B \ln N! - k_B \ln n!$$

$$S^* = k_B \left\{ (N+n) \ln(N+n) - (N+n) - N \ln N - N - n \ln n - n \right\}$$

$$S^* = k_B \left\{ N \ln(N+n) - N \ln N + n \ln(N+n) - n \ln n \right\}$$

$$S^* = k_B \left\{ N \ln \left(\frac{N+n}{N} \right) + n \ln \left(\frac{N+n}{n} \right) \right\}$$

$$3^*) S^* \approx k_B \left\{ N \ln \left(1 + \frac{n}{N} \right) + n \ln \left(1 + \frac{N}{n} \right) \right\}$$

$$n \rightarrow 0 \quad S^* \rightarrow \text{circled } 0$$

$$n \rightarrow \infty \quad S^* \rightarrow k_B N \ln \left(1 + \frac{n}{N} \right) \rightarrow N k_B \ln \frac{n}{N}$$

$$S^* \rightarrow N k_B \ln n$$

$S^* \uparrow$

$$\frac{1}{T^*} = \left(\frac{\partial S^*}{\partial E} \right)_{V,N} = \left(\frac{\partial S^*}{\partial E} \right)_{V,N} \left(\frac{\partial E}{\partial n} \right)_{V,N} = \left(\frac{\partial S^*}{\partial n} \right)_{V,N} \frac{1}{\hbar \omega}$$

$$\left(\frac{\partial S^*}{\partial n} \right) > 0 \quad S^* \text{ función crecientemente de } n$$

$$\Rightarrow \frac{1}{T^*} > 0 \quad T^* > 0$$

$$\frac{1}{T^*} = \frac{k_B}{\hbar \omega} \frac{\partial}{\partial n} \left[N \ln \left(\frac{N+n}{N} \right) + n \ln \left(\frac{N+n}{n} \right) \right]$$

$$\frac{1}{T^*} = \frac{k_B}{\hbar \omega} \left[\frac{N}{N+n} - \frac{N}{N} + \ln \left(\frac{N+n}{n} \right) + n \left(\frac{1}{N+n} - \frac{1}{n} \right) \right]$$

$$\frac{1}{T^*} = \frac{k_B}{\hbar \omega} \ln \left(\frac{N+n}{n} \right)$$

$$(N+n) > n \Rightarrow \ln \left(\frac{N+n}{n} \right) > 0 \Rightarrow T^* > 0$$

$$\frac{N+n}{n} > 1$$

$$5) \quad \frac{k_B T^*}{\hbar \omega} = \frac{1}{\ln \left(\frac{N+n}{n} \right)}$$

$$e^{\frac{\hbar \omega}{k_B T^*}} = \frac{N+n}{n} \Rightarrow n e^{\frac{\hbar \omega}{k_B T^*}} = N+n$$

$$n \left(e^{\frac{\hbar \omega}{k_B T^*}} - 1 \right) = N$$

$$\boxed{n = \frac{N}{e^{\frac{\hbar \omega}{k_B T^*}} - 1}} \Rightarrow E = \frac{N \hbar \omega}{e^{\frac{\hbar \omega}{k_B T^*}} - 1}$$